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[4.14]

4.22 S; known ; P =500 N <, a =0.250m, b=0.200m, d=0.250m, «o=30°
unknown ; 74, C M; A=A %=(F.B.D.)
S BdE #Y, 99 B, w47 1&2
A; (@) AC = CD ©°|iL, ZYACD =
= ZtA =Z4D =8 = 30°
+)ZMy =0 ;
a (Typ sinB) = (b sina) P =0

b sina (0.2m) sin30° N
= = =
Tap a sinf ? (0.25m) sin30° (500 N)

400 N > 7, = 400 N

(b) vy = a + B =30°+ 30° = 60°
SYF =0 ;
¢+ 1T, -P=0
= O, = -T,p cosy + P = -(400 N) cos60° + (500 N) = 300 N
1ZF, =0 ;
C - T,=0
S Q= Tup siny = (400 N) sin60° = 346.4 N

C=+/C?+C? = V(300 N)* +(346.4 N)* = 458.2 N

G, .
0 = tan' =L = tan ' 2264 N 1(11547) = 49.1°

C, 300 N

= C =458 N 249.1°

R (e: +)SM, = 0 & AH3HA?



4.43

(a)

P=162kN, W=54kN, 7=18kN, 2 =48m, «=26m, b=15m
Sy Wb F38 1&3(AAA, F)

3ol WY, wWlE HY,

—XF, =0, 12F, = 0, +)XM, = 0 >

M; A% =(F.B.D.) o b\
a

A >XF, =0; E, =0 Pl wi

'SF,=0; E, -P-W-T7T=0 D

= E, =P+ W+ T

(b)

= (16.2 kN) + (5.4 kN) + (18 kN) = 39.6 kN
= E =39.6 kN 1
)M, =0; M+ z P+ a W-bT=0
= M=-x P-a W+ b T
= -(4.8 m)(16.2 kN) - (2.6 m)(5.4 kN) + (1.5 m)(18 kN)
= -64.8 kN
= M = 64.8 kNm €

M; A=A =(F.B.D.) T
Ay »>XF, =0; E =0 T

€z

oM
T

12F, =0 E,-P-W=0 lw
P V

Y

= <>
> E, =P+ W -

= (16.2 kN) + (5.4 kN) = 21.6 kN
= E =216 kN 1
XM, =0; M+ 2 P+ a W=0
= M=-x P-a W
-(4.8 m)(16.2 kN) - (2.6 m)(5.4 kN)
-91.8 kN

= M =91.8 kNm ¢
R, (o: SM, == =M, & &3 49)

T; (el: ast bellA Wk ERlE Whgko] th& o] )

E < T)
EY




